FER3 1EE1RSBRKREFHES

EHl==EAE ()

B | A | 65 N = w &
25 A [10:00 A=E& (% -BELRE - REEAHODRHA)
26 | X (h=)
21 | K (h=)
28 | K (R=)
1 & (R22)
2 (R=)
3 (R=)
=B (—&EM 5A)
@ 6% JIEFER @ 9% MEILE
4 A |10:00
® 10% #H#Ef O 15F =EhER
® 16%# HHLEL
= (—&EM 5A)
O 17% fHFEsk © 8% WHEm
5 % mno@ 3% HHEHEE @ 13F MEER
® 12% /NERS
6 K (R22)
7 X (R22)
8 & |13:30 FA=E EEHEE - (157 13 : 00~ = v — b
9 (R=)
10 (R=)
1| B |10:00 EHEEES
12 | K (R=)
13 | &k |10:00 FEHIZFES GEFAIKE)
14 | K [10:00 FEHIZFESR (—BKFD
15 | & [10:00 FEHIFER (—HKRED)
16 (R=)
17 (R=)
18 | A (R=)
19 | % (R=)
20 [ Kk [10:00 AHRE (ZERKRE-FHH-FER-BAR)




